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Intersections of Two Planes %Im& S-/ZD/X

(1) If two planes intersect along a
line, the system has an infinite

number of solutions, as described N pesessss
by the parametric equations of the at a line
line.

(2) If two planes are coincident (i.e., same plane), the system
has an infinite number of solutions, as described by either of
the two given equations of the plane.

z

(3) If two planes are parallel (i.e., their
normal vectors are parallel) and S y
distinct, the system has no solution. //

A
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Ex.1 Solve each system and give a g eometric
description of the planes.
(i.e., line intersection, coincident, parallel & distinct )

a) x+4y-3z+6=0 @ Tn =(1,4,-3)
2x+8y-62+11=0& &+ _ ;¢ )
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b) @ 5x-y+2z-9=0 T,=(5,-1,2)

@ -25x +5y - 102 +45=0 = (s {,’lD)

OxS: 25 ~Sy +I02 ~45=0

O =0
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c) 4x+7y-332+17=0@7;:(4,:}|—;3)
8x+5y-3z+7=0 S
n"-:(?lrl—g>

wit oollinear
. plenes ndt posaelel
U udersedbion 15 Line
2x(@®: Yt 143 -bbz +34 =0
@ c 8% 1—5'5—31- +3F+ =0
CI.%— 632423 =0 9
%‘}% +3 =0
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P S for I SR\ TN
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bt |z = ¢
=3t-2
R+ S(AL-2) -3k +3F=0
fx + 356 - 15 -3t +F =0
gx =-32t+8

R ¢ = ( |3 ) +E(-4,2 )
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Assigned Work

p.516 # 1, 2, 3,6, 8, 10
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